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Question Number : 1 Question Id : 6154757361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

61547528701, 1
G1547528702. 2
615475258703, 3
E1547528704. 4

Question Number : 1 Question Id : 6154757361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547528701, 1
E1547528702. 2
B1547528703. 3
B15475258704. 4

Question Number : 2 Question Id : 6154757362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547528705. 1
B1547528706. 2
B1547528707. 3
615475258708, 4

Question Number : 2 Question Id : 6154757362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547528705. 1
B1547528706. 2
G1547528707. 3
615475258708, 4

Question Number : 3 Question Id : 6154757363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

615475287051
61547528710, 2
615475258711, 3
E1547528712. 4



Question Number : 3 Question Id : 6154757363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475287051
61547528710, 2
615475258711, 3
B1547528712. 4

Question Number : 4 Question Id : 6154757364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

BE1547528713. 1
B1547528714. 2
61547528715 3
E1547528716. 4

Question Number : 4 Question Id : 6154757364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475287131
615475258714, 2
615475258715 3
E1547528716. 4

Question Number : 5 Question Id : 6154757365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547528717, 1
E15475287158. 2
BE1547528715. 3
B1547528720. 4

Question Number : 5 Question Id : 6154757365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547528717, 1
615475258718, 2
E15475287149. 3
B1547528720. 4

Question Number : 6 Question Id : 6154757366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



B1547528721. 1
B1547528722 2
B1547528723. 3
E1547528724. 4

Question Number : 6 Question Id : 6154757366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547528721. 1
B1547528722 2
B1547528723. 3
G1547528724. 4

Question Number : 7 Question Id : 6154757367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475287251
E1547528726. 2
B1547528727. 3
B1547528728. 4

Question Number : 7 Question Id : 6154757367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547528726. 2
B1547528727. 3
B1547528728. 4

Question Number : 8 Question Id : 6154757368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547528729, 1
E1547528720. 2
61547528721, 35
61547528732 4

Question Number : 8 Question Id : 6154757368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547528729 1
E1547528720. 2
61547528721,
61547528732 4

Question Number : 9 Question Id : 6154757369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E1547528733. 1
E1547528734. 2
61547528735 3
G15475258736. 4

Question Number : 9 Question Id : 6154757369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547528733. 1
E1547528734. 2
61547528735 3
G15475258736. 4

Question Number : 10 Question Id : 6154757370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547528737, 1
E1547528738. 2
B1547528739. 3
B1547528740. 4

Question Number : 10 Question Id : 6154757370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547528737. 1
61547528738, 2
615475258739, 3
E1547528740. 4

Question Number : 11 Question Id : 6154757371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunmistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

615475287411
B1547528742 2
615475258742 3
61547525744, 4

Question Number : 11 Question Id : 6154757371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547528741. 1
B1547528742 2
615475258742 3
61547525744, 4

Question Number : 12 Question Id : 6154757372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3 teaching—learning process (4) management strategies



Options:

61547528745, 1
61547528746 2
E1547528747. 2
61547528748, 4

Question Number : 12 Question Id : 6154757372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547528745. 1
E1547528746. 2
B1547528747. 3
615475258748, 4

Question Number : 13 Question Id : 6154757373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

B1547528749. 1
61547528750, 2
615475258751, 3
615475258752, 4

Question Number : 13 Question Id : 6154757373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547528745. 1
E1547528750. 2
B1547528751. 3
B1547528752. 4

Question Number : 14 Question Id : 6154757374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

61547528753, 1
615475258754, 2
615475258755, 3
E1547528756. 4

Question Number : 14 Question Id : 6154757374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475287531
E15475258754. 2
615475258755, 3
E1547528756. 4

Question Number : 15 Question Id : 6154757375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (4) :  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear definitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:
E1547525757. 1

E1547528758. 2
E1547528759. 3
B1547528760. 4

Question Number : 15 Question Id : 6154757375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547528757. 1
61547528758, 2
61547528759, 3
E1547528760. 4

Question Number : 16 Question Id : 6154757376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

E15475287EL. 1
B1547528762. 2
B1547528763. 3
B1547528764. 4

Question Number : 16 Question Id : 6154757376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547528761, 1
E1547528762. 2
615475258763, 3
E1547528764. 4

Question Number : 17 Question Id : 6154757377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528765, 1
615475258766, 2
E15475287EY. 3



E1547528768. 4

Question Number : 17 Question Id : 6154757377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E15475287E5. 1
61547528766, 2
1547528767, 2
61547528760 4

Question Number : 18 Question Id : 6154757378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHPU=9, JNU =9, then DU =7

(1) 5 (%) 6
(3) 4 4 7
Options:

E154752876%9. 1
B1547528770. 2
B1547528771. 3
B1547528772. 4

Question Number : 18 Question Id : 6154757378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afe HPU=9,JNU=9, @i DU= 7

(1) 2 (2) 6
(3) 4 4 7
Options:

BE154752876%9. 1
B1547528770. 2
G1547528771. 3
E1547528772. 4

Question Number : 19 Question Id : 6154757379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

E1547528773. 1
61547528774 2
E1547528775. 3
B1547528776. 4

Question Number : 19 Question Id : 6154757379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53. 63, 83

(1) 13 (2) 53
(3) 63 (4) 83
Options:

615475287731
E1547528774. 2
615475258775 3
E1547528776. 4

Question Number : 20 Question Id : 6154757380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 in two
yvears. Find out the principal amount.

(1) Rs. 1.900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547528777. 1
B1547528778. 2
B1547528779. 3
61547528780, 4

Question Number : 20 Question Id : 6154757380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547528777. 1
B1547528778. 2
B1547528779. 3
61547528780, 4

Question Number : 21 Question Id : 6154757381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547528781, 1
61547528782 2
E1547528783. 3
E1547528784. 4

Question Number : 21 Question Id : 6154757381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547528781. 1
B1547528782. 2
61547528783, 3
615475258754, 4

Question Number : 22 Question Id : 6154757382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
(3) Sub contrary (4) Subaltern
Options:

BE1547528785. 1
B1547528786. 2
B1547528787. 3
615475258788, 4

Question Number : 22 Question Id : 6154757382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547528785, 1
61547528786, 2
E1547528787. 3
E154752878E. 4

Question Number : 23 Question Id : 6154757383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

615475287859, 1
615475258730, 2
E15475258731. 3
E15475287392. 4

Question Number : 23 Question Id : 6154757383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528789, 1
615475258730, 2
615475258731, 3
E15475287392. 4

Question Number : 24 Question Id : 6154757384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals”. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

B15475287393. 1
B1547528754. 2
615475258735 3
E15475258736. 4

Question Number : 24 Question Id : 6154757384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o 2 =\ r ey
“gdl =519 TR AR T U%N & T & J2E 2 7

(1)  fagm fuy (2) T fag=
(3)  =EYm fmy (4) TEYE fEs
Options:

E15475287393. 1
615475258734, 2
E1547528735. 3
BE15475287396. 4

Question Number : 25 Question Id : 6154757385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

61547528737, 1
615475258738, 2
E1547528739%9. 3
E1547528800. 4

Question Number : 25 Question Id : 6154757385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

61547528737, 1
E154752873958. 2
BE15475287399. 3
51547528800, 4

Sub-Section Number: 2
Sub-Section Id: 615475327
Question Shuffling Allowed : Yes

Question Id : 6154757386 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154757387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547528801, 1
E1547528802. 2
E1547528803. 3
51547528804, 4

Question Number : 27 Question Id : 6154757388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

61547528805, 1
61547528806, 2
E1547528807. 3
E1547528808. 4

Question Number : 28 Question Id : 6154757389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

61547528809, 1
E1547528810. 2
E1547528811. 3
BE1547528812. 4

Question Number : 29 Question Id : 6154757390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

51547528813, 1
61547528814, 2
615475258815, 3
E1547528816. 4

Question Number : 30 Question Id : 6154757391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

E1547528817. 1
61547528818, 2
E1547528819. 3
E1547528820. 4

Question Id : 6154757386 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



s : 9= 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 70 fafus TR 51991 575 5 Fog 1 ol 1 39 =
2| 31 % 9R W 9vT HEA (26-30) 1 I S0
s U Tt T S e 1 H@en (FEE )

; FH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154757387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 2002 F9T 9 2005 T 59 T UH FogA F DA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547528801, 1
E1547528802. 2
B1547528803. 3
51547528804, 4

Question Number : 27 Question Id : 6154757388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

E1547528805. 1
B1547528806. 2
61547528807, 3
61547528808, 4



Question Number : 28 Question Id : 6154757389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAE0 TT5 T fahl = A F91 F 20 ATTwad T

(1) =My (2) EE
) T (4) = H T
Options:

B1547528809. 1
61547528810, 2
61547528811, 2
61547528812 4

Question Number : 29 Question Id : 6154757390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 fahi 1 wfav Fe Tk Fogza 1 g i g § sAtashag = ur?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

51547528813, 1
61547528814, 2
61547528815, 3
E1547528816. 4

Question Number : 30 Question Id : 6154757391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Farse, fyedh faf @ =39 2001 ¥ 99 2007 F S0 w69 TREZ R

(1) ] (2) THY
(3) eEETm (4) == H U=
Options:

61547528817, 1
E15475288158. 2
E15475288149. 3
B1547528820. 4

Sub-Section Number: 3
Sub-Section Id: 615475328



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154757392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

61547528821, 1
E1547528822. 2
61547528823, 3
E1547528824. 4

Question Number : 31 Question Id : 6154757392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FOI | GElad Tatatad) § Sl 9 FHaeE & 9 & o Fetaiad 8 9 w1 99T 2 7

(1) e (2) FuTEed
(3) == (4) F=F
Options:

BE1547528821. 1
B1547528822. 2
61547528823, 3
61547528824, 4

Question Number : 32 Question Id : 6154757393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

E1547528825. 1
B1547528826. 2
G1547528827. 3
61547528828, 4

Question Number : 32 Question Id : 6154757393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() TS @ =
(3 = (4) ™
Options:

BE1547528825. 1
B1547528826. 2
B1547528827. 3
61547528828, 4

Question Number : 33 Question Id : 6154757394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements. choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547528829, 1
61547528830 2

61547528821, 3
61547528832, 4

Question Number : 33 Question Id : 6154757394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =0 (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3HI T= &, 4 (R). (A) i T& == 74 2
(3) (A =E 2, g (R) &=t 75 =

4) (ATE T, FR) TR E

Options:

61547528829, 1
61547528820 2
E1547528821. 2
61547528822, 4

Question Number : 34 Question Id : 6154757395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms 1s related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547528833, 1
61547528834, 2
61547528835 2
61547528836 4

Question Number : 34 Question Id : 6154757395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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{1} 3"_ Ao dl

2 3 IEdE

(3) A

4 -
Options:

E1547528823. 1
E1547528824. 2
61547528835, 3
615475258836, 4

Question Number : 35 Question Id : 6154757396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—-View
(3) A-—Tutor

(4) A-Learner

Options:

61547528837, 1
61547528838, 2
61547528839 2
E1547528840. 4

Question Number : 35 Question Id : 6154757396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fafaa 8 & =0 =31 79 (7)) 9 391 Fe = ge w60 v gEel 39 (29) B 7
1) -

(2) -

(3) U-cHet

(4) U=

Options:
E1547528537. 1



E1547528838. 2
61547528829, 3
615475258840, 4

Question Number : 36 Question Id : 6154757397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

51547528841, 1
61547528842 2
615475258842, 3
E1547528844. 4

Question Number : 36 Question Id : 6154757397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 w18E 79, AeeEd 5§ R ety B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Ty
(¢) =AY

i

(d) -3 IEE

ety 7 8 w1 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

61547528841, 1
E1547528842. 2
E1547528843. 3
615475258844, 4

Question Number : 37 Question Id : 6154757398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547528845, 1
E1547528846. 2
E1547528847. 3
E1547528848. 4

Question Number : 37 Question Id : 6154757398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seqeT # 9989H | Fefatad 7 B a0 |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

51547528845, 1
61547528846, 2
E1547528847. 3
E1547528848. 4

Question Number : 38 Question Id : 6154757399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (1v)
(4) (1) and (1v)

Options:
1547525849 1



E1547528850. 2
61547528851, 3
61547528852, 4

Question Number : 38 Question Id : 6154757399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(1) Y-9rfia, AMfeh AR a2adi arii-a a3k

1)  TEE TERE g i

(i) o TATH FEl THZ-TEG TS TEl 396 T=EE | T A7

(1v)  FHE AgETg

fafefiga el § 3 =81 e =4 -
(1) (1) ¥ (i)
(2) (i) 3T (iii)
(3)  (iil) # (iv)
4) (1) # W (i)
Options:
E1E47FEZEE449. 1
61547528850, 2

B1547528851. 3
B1547528852. 4

Question Number : 39 Question Id : 6154757400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
1547528552 1
E154752E854. 2
E1547528555 2
61547528556 4

Question Number : 39 Question Id : 6154757400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U TAE S3EE WA (0 fafee)
(1) a9 FA1 F IIE0 FAT A
(i)  ITafTE giEd w2

(i) = AaF F= F T F
(iv)  TTHfdE HETEAT 1 HE FA 7

(v) T SEA & AT T geA e 2

Friferfian fpet & @ F9 T
(1) (). (i) 37 (i)
@  @. Gv) (W)
(3) (). (i) H (v)

(4) (i), (iv) T (V)

Options:

61547528853, 1
61547528854, 2
61547528855 2
E1547528856. 4

Question Number : 40 Question Id : 6154757401 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

TEE A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3) gzl fawm (4) oTE™ 3R wEd =
Options:

61547528857, 1
E1547528858. 2
E1547528859. 3
B1547528860. 4

Yes



Question Number : 40 Question Id : 6154757401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o R weres f o et 20

(1) == =1 2 T F
(3) g faEe (4) EE AT TR T
Options:

E1547528857. 1
E1547528858. 2
61547528859, 3
B1547528860. 4

Question Number : 41 Question Id : 6154757402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyava Philosophy with Deductive — Inductive Process

Options:

61547528861, 1
61547528862, 2
61547528862 2
E1547528864. 4

Question Number : 41 Question Id : 6154757402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araier sone =+ e @ = g i

(1) TOeg T U9 Y e AR O & =9 o

(2)  TEavEE F YR W 5aHg 9T

(3)  ATE = A9 FOF I EAHEE F

(4)  TPTHATOIE - AR UG Ay = 39 e

Options:

61547528861, 1
E1S547528862. 2
615475258862, 5
61547528864, 4



Question Number : 42 Question Id : 6154757403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching wvision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

B1547528865. 1
61547528866, 2
61547528867, 3
615475258658, 4

Question Number : 42 Question Id : 6154757403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fratofas 4 @ #0 vF aAfdeas 2fe TR w2 S A ¥ W U6 S § 9 H AeEeE 2an
23
(1) T©RAEART (2) A uH O AR 7S A
(3) TH I AN TF (4) w=F T
Options:

61547528865, 1
E1547528866. 2
E1547528867. 3
61547528868, 4

Question Number : 43 Question Id : 6154757404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547528869, 1
61547528870, 2
61547528871, 2
61547528872 4

Question Number : 43 Question Id : 6154757404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547528869. 1
61547528870, 2
147520871, 2
61547528872, 4

Question Number : 44 Question Id : 6154757405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(in) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

E1547528873. 1
61547528874, 2
E1547528875. 3
E1547528876. 4

Question Number : 44 Question Id : 6154757405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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fafafias faFeat 8 9 31 =1 =999 Fifav .

1) @), (D) 7R @) (2) (). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

BE1547528873. 1
61547528874, 2
61547528875, 3
61547528876, 4

Question Number : 45 Question Id : 6154757406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes in the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (111) and (v)
(4) (1), (11) and (v)

Options:

61547528877, 1
61547528878, 2
61547528879 2
1547528880 4



Question Number : 45 Question Id : 6154757406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 31 = T= 4 ° faem =9 9 weTeRs At (Suim) # metia g 1 mem Fifw

(1) M | Ag-a%

(i) A = IEEEAT

(i)  Afvew HvE-—am § =2

(iv)  fa=i= Feem

(v)  =E A TEare & weE T T e

(vi)  TEEITE ,‘_' T TETA

feTiaa fTFeT 8 © 399 =1 =999 Firan

(1) (@), (i) =W (vi)
@ (i), (v) FR (v)
(3) (i), (iii) 37 (iv)
@) (). () AT (v)

Options:

61547528877, 1
61547528878 2
1547528879, 2
615475258850, 4

Sub-Section Number: 4
Sub-Section 1d: 615475329
Question Shuffling Allowed : Yes

Question Id : 6154757407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalism

later.

Sub questions

Question Number : 46 Question Id : 6154757408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
61547528551, 1
61547528082 2
G15475285583. 2
15475258854, 4

Question Number : 47 Question Id : 6154757409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

61547528885, 1
61547528886, 2
E1547528887. 3
E1547528888. 4

Question Number : 48 Question Id : 6154757410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547528889, 1
61547528890 2
61547528891, 2
61547528892 4

Question Number : 49 Question Id : 6154757411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

615475288593, 1
61547528894, 2
61547528835, 3
E15475288596. 4

Question Number : 50 Question Id : 6154757412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

BE1547528897. 1
B1547528898. 2
61547528895, 3
E1547525300. 4

Question Id : 6154757407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154757408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o a7 I I3 % SARE AR % e gRT 9 e BhT E 7

(1) SR G T TG 1 THTE 90
(2) e d=Tes 9

(3) oSl % w92 32vE 9

(4) HiEd wEsar

Options:

61547528881, 1
61547528882, 2
61547528882 2
1547528824 4

Question Number : 47 Question Id : 6154757409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547528885. 1
E1547528886. 2
B1547528887. 3
61547528888, 4

Question Number : 48 Question Id : 6154757410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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() 96 TR 0 Ok S fe (2) AT s FEE
(3)  faadwar Fi == T
Options:

61547528889, 1
61547528830, 2
E15475288591. 3
E15475288392. 4

Question Number : 49 Question Id : 6154757411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475288593, 1
61547528894, 2
61547528835, 3
61547525836, 4

Question Number : 50 Question Id : 6154757412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ATHT AR o a9 0 oige® 1 AT 391 7 7

(1) =3 @0 q521 51 "% T Tgar 3R A0 9 e foe T
(2) 3 fomeRdl R 5 9@
(3) I fafsre R g7 i F+6F W = 9
(4)  TIg U TR TEE AEA TH-HESEE] 9
Options:

BE1547528897. 1
B1547528898. 2
61547528895, 3
E1547525300. 4
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Section Number :

Section type:
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Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :
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615475330
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Question Number : 51 Question Id : 6154757413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The neo-functionalist theory developed by Ernst Haas was influenced mainly by which one of

the following developments?

(1) Industrial development
(3) Social movements
Options:

61547528901, 1
G154752890z2. 2
615475283903, 3
E15475283904. 4

(4)

2)  Western European cooperation

First World War

Question Number : 51 Question Id : 6154757413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

61547528901, 1
E154752890z2. 2
6154752583903, 3
E15475283904. 4

Question Number : 52 Question Id : 6154757414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who. among the following writers stated that the East-West confrontation of the old world
order had given way to a world divided into three parts?

(1) Susan Strange (2) Robert Kagan
(3) Robert Cooper (4) Samuel Huntington
Options:

515475283905, 1
E15475283906. 2
61547523307, 3
E1547528308. 4

Question Number : 52 Question Id : 6154757414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ffafad § 4 foE ofgs | a & T 59 =39 & 9-9099 28609 | o9 &1 5 900 ° @2 &

(L) g (2) T2 FH
(3) T FH (4) g Bz
Options:

E15475283905. 1
61547528906, 2
61547528907, 3
615475283908, 4

Question Number : 53 Question Id : 6154757415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which, among the following theories advocated that international relations are determined
by the national interests of states, especially for the great powers who compete for
domination in military and economic affairs?

(1) Social science realism (2 Social constructivism
(3) Functionalism (4) Positivism
Options:

615475283909, 1
E1547528910. 2
E1547528911. 3
B1547528912. 4

Question Number : 53 Question Id : 6154757415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547528909. 1
61547528910, 2
61547528911, 3
615475258912 4

Question Number : 54 Question Id : 6154757416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT

List I
(a) K.J. Holsta

(b Francis Fanon

(c) DM.C. Williams
(d)y AA Stein

Codes:

(1) (a)-(11), (b)-(111), (c)-(1), (d)-(1v)
(2) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11), (b)-(1). (¢)-(ii1). (d)-(1v)

Options:

61547528913, 1
61547528914, 2
61547528915 2
61547528916 4

(1)

(11)

(111)

(1v)

Last II

Realism Reconsidered: The Legacy of
Hans Morgenthau in International
Relations

The Dividing Discipline: Hegemony
and Diversity in International Theory
The Wretched of the Earth

Why Nations Cooperate: Circumstances
and Choices in International Relations

Question Number : 54 Question Id : 6154757416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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& :

(1) (a)-(i1), (b)-(ii1), (e)-(1), (d)-(iv)
(2) (a)-(1). (b)-(11). (¢)-(111), (d)-(1v)
(3) (a)-(i11). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(2). (e)-(111). (d)-(1v)
Options:

515475258913, 1

1547528914, 2

B1547528915. 3
61547528916, 4

Question Number : 55 Question Id : 6154757417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who. among the following, was the proponent of traditional approach to foreign policy?

(1) Max Weber (2) Hugo Grotius
(3) Anthony Giddens (4) Adam Smith
Options:

E1547528917. 1
B1547528918. 2
61547528915, 3
E1547528920. 4

Question Number : 55 Question Id : 6154757417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547528917. 1
E15475289158. 2
E15475289149. 3
B1547528920. 4

Question Number : 56 Question Id : 6154757418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct code for Assertion (A) and Reason (R) as given below:

Assertion (A):  David Mitrany had argued that greater interdependence in the form of
transnational ties could lead to peace.

Reason (R) : Technical and economic collaboration would expand the notion of mutual
benefits resulting in welfare improvements in the life of citizens.

Code :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are not correct
(3) (A) 1s correct. but (R) is not correct
(4) (A) 1s not correct. but (R) 1s correct
Options:

61547528921, 1

61547528922 2

B1547528923. 3
E1547528924. 4

Question Number : 56 Question Id : 6154757418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528921, 1
E1547528922. 2
E1547528923. 3
E1547528924. 4
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Question Number : 57 Question Id : 6154757419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT

(a)

(b)

(c)

(d)

Code:
(1)
(2)
(3)
(4)

Options:

List I
Behaviouralism

Mercantilism

Rationalism

Solidarism

(a)-(111), (b)-(1v). (e)-(11). (d)-(1)
(a)-(1v), (b)-(i1), (e)-(1), (d)-(11)
(a)-(11), (b)-(), (c)-(iii), (d)-(1v)
(a)-(). (b)-(iv). (¢)-(ii). (d)-(iii)

615475289251
E1547528926. 2

(1)

(11)

(111)

(1v)

Last II

Individuals are ultimate members of
international society

States are legal organizations that
operate in accordance with
international law

Social science is not fundamentally
different from natural sciences
Economic activity should be
subordinated to the goal of building a

strong state



E1547528927. 3
B1547528928. 4

Question Number : 57 Question Id : 6154757419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1i). (b)-(iv). (e)-(ii). (d)-(1)
(2) (a)-(1v). (b)-(111), (e)-(1). (d)-(11)

(3) (a)-(11), (b)-(1), (e)-(111). (d)-(1v)
(4) (a)-(1), (b)-(iv), (c)-(11), (d)-(111)
Options:
£1547528925. 1
£1547528926. 2

E1547528927. 3
E1547528928. 4

Question Number : 58 Question Id : 6154757420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the third great debate on IR developments

(1) Debate between realism and liberalism
(2) Debate between realism and behaviouralism
(3) Debate between neo-realism and neo-Marxism

(4) Debate between modernism and post positivism



Options:

61547528929, 1
61547528920 2
E1547528921. 2
61547528922, 4

Question Number : 58 Question Id : 6154757420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528929, 1
61547528920 2
E1547528921. 2
61547528922, 4

Question Number : 59 Question Id : 6154757421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the philosopher. who stated that ‘Our rulers will probably have to make

considerable use of lies and deceit for the good of their subjects’.

(1) Thomas Aguinas (2) Socrates
(3) Plato (4) Thomas Hobbes
Options:

615475289352, 1
E1547528924. 2
E1547528935. 3
B1547528936. 4

Question Number : 59 Question Id : 6154757421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547528933. 1
E1547528924. 2
E1547528935. 3
B1547528936. 4

Question Number : 60 Question Id : 6154757422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Plan ‘Barbarosa’ was chalked out by Adolf Hitler to

(1) Attack Western Europe (2) Attack Eastern Europe
(3) Attack France (4) Attack and conquer the Soviet Union
Options:

BE1547528927. 1
61547528928, 2
61547528939, 3
61547525940, 4

Question Number : 60 Question Id : 6154757422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
S feee 7 T 3eva O SrEnEr e a9 o

(1)  ufy=edt o .= s o foo (2) I T W FEAT «F fou
(3)  WE W HHAT & Teu (4) HIfEUG ¥9 W AHEAT AR @9 941 & fou
Options:

61547528937, 1
61547528928, 2
615475258939, 3
E1547528940. 4

Question Number : 61 Question Id : 6154757423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following was the real reason behind Nuremberg Trals?

(1) Trials of war criminals
(2) Victorious allied powers prosecuting prominent Nazi leaders
(3) Trials of Nazi-Fascist combine
(4) Germany prosecuting Russians
Options:

B1547528941. 1
61547528942 2
615475258942, 3
61547525944, 4

Question Number : 61 Question Id : 6154757423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=HE geat & die Fefaiga 3 3 #H0 anaEs s ar?

(1)  Fg AFEF &1 =F=Rm
(2) et o3 91 3 W ATl AT & A AT

(3) AR =TSl TTH = EEIA

(4) U gRET BT A F A
Options:

61547528941 1

61547528942, 2

61547528943, 3

61547528944, 4

Question Number : 62 Question Id : 6154757424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following was considered as “Godfather” of the League of Nations?

(1) Lloyd Goorge (2) Woodrow Wilson
(3) George Clemenceau (4) Vittorio Orlando
Options:

E1547528945. 1
B1547528946. 2
B1547528947. 3
615475259458, 4

Question Number : 62 Question Id : 6154757424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528945 1
61547528946, 2
E15475258947. 3
E15475289458. 4

Question Number : 63 Question Id : 6154757425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What was the main aim of Rome-Berlin-Tokyo Axis established in 19377

(1) To strengthen the League of Nations

(2) To work out a policy of aggression and expansion
(3) To annex Austria

(4) To help Japan to broker peace with China

Options:

61547528949, 1
61547528950 2
E1547528951. 2
61547528952, 4

Question Number : 63 Question Id : 6154757425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528949, 1
61547528950 2
E1547528951. 2
61547528952, 4

Question Number : 64 Question Id : 6154757426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

In which one of the following cities General Charles de Gaulle established his
Government-in-exile during the second World War?

(1) Washington (2) London
(3) Moscow (4) Peking
Options:

BE15475285953. 1
61547528954, 2
61547528955, 3
E1547528956. 4

Question Number : 64 Question Id : 6154757426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o fawa 3g & Zrm T=fafas =7 @ 7= 9 99 9ed 7 7 | FatET § S0 TR e $ i
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Options:

BE15475285953. 1
61547528954, 2
61547528955, 3
E1547528956. 4

Question Number : 65 Question Id : 6154757427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The G-7 Summit was held in August 2019 in which of the following European cities?

(1) Paris (2) Biarritz
(3) Brussels (4) Munich
Options:

61547528957, 1
E1547528958. 2
E1547528959. 3
B1547528960. 4

Question Number : 65 Question Id : 6154757427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ffaigd 9 O F98 FU9F 38 9 7RG 2019 T -7 GFeH &1 SAESE TR = 9r?

(3)  sedm (4) =HF
Options:

61547528957, 1
E1547528958. 2
E1547528959. 3
B1547528960. 4

Question Number : 66 Question Id : 6154757428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following said, “Profit is a dirty word™?

(1) J.K. Galbraith (2) Dr. Manmohan Singh
(3) Adam Smith (4) Jawaharlal Nehru
Options:

61547528961, 1
E1547528962. 2
E1547528963. 3
E1547528964. 4

Question Number : 66 Question Id : 6154757428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TefatEa 3 & e T8 & 91 T, “a19-us give e 27
(1) HF. Y (2) i T faw
(3) U=H oy (4) SATEAT 488

Options:

61547528961, 1
61547528962, 2
615475289363 2
E1547525964. 4

Question Number : 67 Question Id : 6154757429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following events in the order of their occurrence using the correct codes given

below:
(a) Great Islamic Revolution in Iran
(bh) Perestroika and Glasnost

(c) End of Cold War
(d) 9/11 terrorist attacks

Code:

(1) (a), (b), (c), (d) (2) (d), (), (a), (b)

(3) (), (a), (d), (b) (4)  (b), (d), (e), (a)
Options:

61547528965, 1
61547528966, 2
E1547528967. 3
E1547528968. 4

Question Number : 67 Question Id : 6154757429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= fgu U w2 F7 1 9E . HElAnad geardl & 3 gied BH & 9 H sadedd 6

(a) U R HEM TEAHI FId
(b)  THEEE AR TAEAIE

(c) =M qg & FATH

(d)  9/11 &I FW AGFAEI FFA

E T
(1) (a), (b). (e). (d) (2) (d), (e), (a), (b)
(3) (c). (a), (d), (b) (4) (b), (d), (c), (a)
Options:

61547528965, 1
G1547528966. 2
E1547528967. 3
E1547528965. 4

Question Number : 68 Question Id : 6154757430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are the two main pillars of Belt and Road Initiative (BRI)?

(a) Commerce and Connectivity

(b) Cultural contacts

(e) International Relations
(d) Territorial integrity
Code:

(1) (c) and (d)
(2) (a) and (c)
(3) (a) and (b)

(4) (a) and (d)

Options:

61547528969, 1
61547528970 2
E1547528971. 2
1547528972 4

Question Number : 68 Question Id : 6154757430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefefed 3 @ =1 see Uz U3 s (i $n AR) F 71 9y Ty B
(a)  FTE AR GIFR-FETT

(b) ~ HREIG® HEY

(c) ST TaY

(d)  wEfEE sEsa

(1)  (c) FR (d)
(2) (a) T (c)
(3)  (a) FX (b)

(4)  (a) AR (d)

Options:

61547528969,
61547523970,
E1547528971.
61547528972,

o I P

Question Number : 69 Question Id : 6154757431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following events in the order of their occurrence using the correct codes given

below:

(a) Global war on terrorism

(b) China-Pakistan Economic Corridor

(c) Shimla agreement
(d) Russian invasion of Afghanistan
Code:

(1) (a), (b). (e), (d)
(2) (d). (e). (a). (b)
(3) (d). (e), (b). (a)

(4) (). (d). (a). (b)
Options:
615475289731
61547528974 2
61547523975, 3
61547528976, 4

Question Number : 69 Question Id : 6154757431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F= f2u U wE g2 1 WA R AEfaiEd 9easi #1379 9fed eF & #0 4 ST w9

(a)  AAFATG W AT I

(b)  FE-TTEAE AT TAIRT
(c) T T

(d) AR 9 B9 1 AR

() (). (b). (c). (d)
(2) (d). (e). (a). (b)
(3) (d). (c). (b). (a)
(4) (). (d). (a). (b)

Options:

61547528973, 1
61547528974 2
61547528975 2
E1547528976. 4

Question Number : 70 Question Id : 6154757432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are the two main aspects of globalisation?

(a) Internationalisation and technological revolution

(b) Liberalisation and deterritorialisation

(c) Regionalism and neo-regionalism

(d) Military modernisation and securitization

Codes:

(1) (a) and (c) (2) (c)and (d)
(3) (a) and (b) (4) (b) and (c)

Options:



B1547528977. 1
B1547528978. 2
B1547528975. 3
E1547528980. 4

Question Number : 70 Question Id : 6154757432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MHAREd § 8 &4 ¥ T8e] 49490 & 5] 99 Tac] & ¢
()  ATTESF HE TRTF Fd
(b) i SR fF-guriEe (fEefehaamsee)

() eI ol o B o

(d) T ATGHER A AR G

e :
(1)  (a) #AX (c) (2) (c) ¥R (d)
(3)  (a) #X (b) (4)  (b) ()
Options:

B1547528977. 1
E1547528978. 2
E1547528979. 3
E1547528980. 4

Question Number : 71 Question Id : 6154757433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following two world powers are at loggerheads over tariff and trade?

(1) US and Russia (2) Russia and India
(3) US and China (4) China and Russia
Options:

E1547528981. 1
E1547528982. 2
B1547528983. 3
615475258954, 4

Question Number : 71 Question Id : 6154757433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  Fug 31 &4 (2) ®F A 9HA
(3)  FUE #HE AFH (4) =9 AT =E
Options:

61547528981, 1
G1547528982. 2
E1547528983. 3
E1547528984. 4

Question Number : 72 Question Id : 6154757434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A): Feminism grew out of the feminist movement as an academic discipline in

the 1960= and 1970s.

Reason (R) : Feminist movement aimed at achieving political, social and economic

equality for women.

Codes :

Option :

(1) (A) 1s true.but (R) 1s false
(2) (A) 1s false. but (R) 1s true
(3) Both (A) and (R) are true. and (A) is the correct explanation of (R)

(4) Both (A) and (R) are true, and (A) is not the correct explanation of (R)
Options:
1547528955 1
15475205986, 2
1547528987, 2
615475289850 4

Question Number : 72 Question Id : 6154757434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= 50 0 wfgsem (A) # T% (R) & 0 #8132 &l 9591 &4

AtawaT (A) ; THEE &1 329 1960 AR 1970 T e =aaea & €9 § /AR ACCH & 9oy
o7 |

TF (R) : A AR * o5 Oeensl] & fou weHtdes, g i Aids gaEar uH
AT 2

%

e

(1) (A) TF1 2, =fF (R) 7o 21
(2) (A) TTerd 2, oA (R) 981 2l
(3) (A AR R)THE TE F, AR (A), (R) F TE == 2

(4) (A #R(R) AT FE £, AR (A), (R) &1 @&l == &6 2|

Options:

61547528985, 1
615475289386, 2
61547528987, 2
6154752589588, 4

Question Number : 73 Question Id : 6154757435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

India’s vision for data sovereignty hinges on which two of the following instruments :
(a) Cyber Security Bill

(b) Draft e-governance policy

(c) Telecom policy

(d) Personal data protection hill

Codes:

Options;

(1) (a) and (b) (2) (e) and (d)

(3) (b) and (d) (4) (a) and (c)
Options:

51547528989, 1



E1547528930. 2
61547528951, 3
B154752598%. 4

Question Number : 73 Question Id : 6154757435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
221 T9Yal ¥ Tatgd YRaE 3 (F9H) Fefdiad 9 3 &4 2 a9 1 5 #2d 8 7
(a)  HEE HE FUAE
(b)  E-TEAg i gErer Fifg
(e) ﬁ'ﬁ:l?m it
(d)  FakEE 321 g =i

(1)  (a) @ (b) (2) (c) #R (d)
(3) (b)) AT () (4) (a) # (e)
Options:

E1547528959. 1
61547525930, 2
E15475289391. 3
B1547528992. 4

Question Number : 74 Question Id : 6154757436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“A War involving various aspects of society, including consecription economy and military
with the aim of achieving unconditional surrender through mass destruction of civil and
military enemy targets”, refers to

(1) Civil war (2) Total war
(3) Conventional war (4) New war
Options:

615475289392 1
61547525934, 2
E1547528985. 3
E1547528996. 4

Question Number : 74 Question Id : 6154757436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T F AN 99 B BEE 1 oE TEm w T v e ¥ dem F WY AEaE I 9w,

1) TEI5H @ Tiggd
(3)  URUNE 5§ (4) TIZH
Options:

51547528953, 1
615475258954, 2
615475258935 3
61547525936, 4

Question Number : 75 Question Id : 6154757437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct code for Assertion (A) and Reason (R) as given below

Assertion (A):  More than 100 people died in Kerala, Karnataka and Maharasthra this

vear due to floods

Reasons (R) : Changes in land patterns. excessive quarrying and plantation. poor
management of dams and lack of eco-sensitivity led to flood in the above

three Indian states
Codes -
Options:

(1) (A) 1s true,but (R) is false

(2) (A) is false, but (R) is true

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(4) Both (A) and (R) are true and (R) is not the correct explanation of (A)

Options:

61547528997, 1
61547528998, 2
615475258999 2
61547529000 4

Question Number : 75 Question Id : 6154757437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= 720 T AFYE (A) SR T (R) & 00 @81 F2 & Te=H S0 ¢

AFI (A) : 3G A9 g & FHRY i, FOeFH R AEEE H 100 T ft Afuw =t Fi 90 T
T% (R) : Y-T=TET § weed, AcAGE T a9 AR, |19 1 TadE "al 9w, q97 -

Teeeliear &1 FH 2 & FR0 IEET o1 SEdE T=1 § 71¢ A

B

(1) (A @& 2, 9 (R) Tod 21

(2) (A 74 7, oA (R) FE 2

(3) (A #R(R)IH TE 7, A (R), (A) Fi 7 =T 2
(4)  (A) ¥R (R) ZH TET 2, FR (R), (A) F1 & =01 78 2

Options:

61547528997, 1
61547528998, 2
615475258999 2
61547529000 4

Question Number : 76 Question Id : 6154757438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List T with List IT

List I
(a) R. Gilpin
(b) J. Galtung
(e) M. Humphreys

(d) G. Robertson

Codes:
Option :

(1) (a)-(1), (h)-(11), (e)-(ii1), (d)-(iv)
(2) (a)-(iv). (b)-(11). (c¢)-(1). (d)-(111)
(3) (a)-(111). (b)-(1v), (e)-(i1). (d)-(1)
(4) (a)-(1), (b)-(iii). (c)-(1), (d)-(v)

Options:

61547529001, 1

51547529002, 2

E1547523003. 3
B1547523004. 4

(1)
(11)

(111)

(1v)

List IT
Economics and Violent Conflicts
violence. Peace and Peace Research
Crimes against Humanity: The
Struggle for Global Justice

War and Change in International
Politics

Question Number : 76 Question Id : 6154757438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



-1 %1 FHI-11 & 719 HeE &+

i 111
(a) &R et 1)  IHAEFE U2 T2 T bade s
(b) . e (i) =, 9E Us by o
(c) TUH. FOFA (iii) T 2 FgAMZT : 7 WA B TAE
(d) S TEEEm (iv) % U8 =¥ §1 3R dilclicad

(1) (a)-(1), (b)-(11). (¢)-(112), (d)-(1v)
(2) (a)-(1v), (b)-(11), (e)-(1), (d)-(111)
(3) (a)-(iii), (b)-(iv), (e)-(ii), (d)-(1)
(4) (a)-(i1). (b)-(ii1), (c)-(1), (d)-(iv)

Options:

61547529001, 1
61547529002, 2
E15475290032. 2
61547529004, 4

Question Number : 77 Question Id : 6154757439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following small nuclear powers. is not exercising nuclear black mailing as its

defence strategy?

(1) Iran
(2) India
(3) North Korea

(4) Pakistan
Options:
61547529005, 1
E15475290086. 2
61547529007, 5
61547529008, 4

Question Number : 77 Question Id : 6154757439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Fefafaa 3 Tfvdm afea 3 O 5 dJ wm wfE 90 @ OEE ST -gTEE & e s T8

ERGIE]

(1) 9

(2) qid

(3) IR FIE
(4)  TEREE
Options:

E1547523005. 1
61547523006, 2
61547523007, 3
61547523008, 4

Question Number : 78 Question Id : 6154757440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which country repeated the proposal for total abolition of armaments at the 1932

Disarmament Conference?

(1) France
(2) UK

(3) USSR
(4) Uus
Options:

51547523003, 1
61547523010, 2
61547523011, 3
E154752301Z2. 4

Question Number : 78 Question Id : 6154757440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T8 291 9 99 1932 o =0 O § 98 WAd SlelE o I & 9 ot Ty T 9y
(1) wE
(2 I+

(3) 4.UH TH AR

(4) 4.ud



Options:

61547529009, 1
61547529010 2
E1547529011. 2
61547529012, 4

Question Number : 79 Question Id : 6154757441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

International environmental governance 1s primarily governed by which one of the following

reports?

(1) Brandt report

(2) Brundtland report

(3) International Whaling Commaission
(4) [AEA
Options:

615475230131
61547523014, 2
61547523015 3
61547523016, 4

Question Number : 79 Question Id : 6154757441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hefcfad 9 @ & o1 {0 9999 SAT08E 91 i=wo] SF9emEs & I9d Sl 8 7

(1) 3=z e

(2) HeUS e

(3) ST ST FHITE

(4) #HAEUIT

Options:

61547529013, 1
E1547529014. 2
61547529015
61547529016, 4

Question Number : 80 Question Id : 6154757442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which institution published its report titled ‘Breaking the Conflict Trap: Civil War and

Development’ that highlighted the need for building reconstruction strategy for economic

development.

(1) IMF (2) OECD

(3) UNDP (49 World Bank
Options:

615475230171
615475230158, 2
615475230149, 3
61547523020, 4

Question Number : 80 Question Id : 6154757442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

—

T8 TEIW T ST T FAThade 29 : fafae an us Sauude oinss ¥ o9 fie gemiae 6, e s

T % fou A WIS TR F F STEEIEa WS 53 T R

(1) FTEUHUTE (2) T
(3) FuA S (4) favg &=
Options:

61547523017, 1
61547523015, 2
E15475230143. 3
B1547523020. 4

Question Number : 81 Question Id : 6154757443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT

Last I

(a) Security Council Resolution 813
April 1993

(b) Security Council Resolution 733
January 1992

(¢) Security Council Resolution 1769
July 2007

(d) Security Council Resoultion 688
April 1991

Codes:

Option :

(1) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v), (e)-(11). (d)-(1)
(4) (a)-(1v), (b)-(1). (e)-(111), (d)-(11)

Options:

51547529021, 1

£1547529022. 2

G1547523023. 3
E1547523024. 4

of

of

of

(1)

(11)

(111)

(1v)

Last II

Enforcement of ‘no fly zone over
Bosnia

UN engagement in Somalia

African Union and UN operation in
Darfur

International engagement to protect
Kurds in Iragq

Question Number : 81 Question Id : 6154757443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 =19 g=1-11 % gHfed & ¢

(a)
(b)
(c)
(d)

-1
HUT 1093 =T FLHT TG T 813

S 1992 1 aT 9itig T 733

S[ATs 2007 T AT TRYE WEdE 1769

YA 1001 T TIEAT IITZ WA 688

&l

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(ii). (c)-(iii). (d)-(iv)
(a)-(11). (b)-(111), (e)-(1v). (d)-(1)
(a)-(111). (b)-(1v), (e)-(11). (d)-(1)
(a)-(1v). (b)-(1). (c)-(111). (d)-(11)

E1547523021. 1
E1547529022. 2
B1547523023. 3
B1547523024. 4

(1)

(111)

(1v)

TI-11

AT &F T 1 T3 T F AR FAT
ATt 3 g UF w1 gHTEd

S H FEEF T9 R UF y=ETeH

T § Fal & 1 F o SaigE aumEa

Question Number : 82 Question Id : 6154757444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Indentify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : In 1991, the UN stated that humanitarian assistance should be provided
with the consent of the affected country on the basis of its appeal for

aszistance.

Reasons (R) : The UN in general holds that the sovereignty. territorial integrity and
national unity of states must be fully respected in accordance with the

UN Charter.

Codes :

(1) Both (A) and (R) are correct
(2) Both (A) and (R) are not correct
(3) (A) 1s correct, but (R) 1s not correct

(4) (A)is not correct. but (R) is correct
Options:
15475239025 1
E1547529026. 2
C1547529027. 2
61547529025 4

Question Number : 82 Question Id : 6154757444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= f5u v SAfuwes (A) 7 9% (R) & 00 @21 F2 61 9891 Fifau

AT (A) - T T 4 1991 T Tzl T 99=E Te@Ed) 99 o9 &1 Henld J a1 SH] =1y, #R

IOFT ATYE 3G TR Tl &) Fde 2E1 =T

% (R) TF T2 & O 97 T OAFAT B R OFw TP % A0 FA9R A HEad,

TSI ST AR TP Uhdl &1 0 994 a7 ST =nieg|

%l

(1) (A) AR (R) ZF wE 2

(2)  (A) HT (R) 5T gat 7= 2

(3) (A = 2, dfEa (R) wE T 2
4) (A FE E 2, d (R) wE 2

Options:

61547529025, 1
61547529026, 2
61547529027, 2
61547529028, 4

Question Number : 83 Question Id : 6154757445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the features found in the Global Gender Gap Report of 2018.

(a) Economic participation
(b) Political empowerment
(c) Foreign policy

(d) Defence policy
Choose the correct answer from the codes given below:

options:

(1) (1) and (111)
(2) (11) and (1v)
(3) (1) and (11)

(4) (1) and (1)

Options:

61547529029, 1
61547529030 2
61547529031, =
615475290322 4

Question Number : 83 Question Id : 6154757445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



9 2018 I TA@ES Siest 719 O i FEmarsi £ 1w Fie
(1) T aefEr

(11) EE I GEREFILAE T

(iii)  Taew Fifq
(iv) &7 ifg
H= 20 70 F2 ° ¥ wE I FH

(1) (1) HT (iii)
(2) (i) FF (iv)
(3) (1) FT (i1)

(4) (ii1) FT (1)
Options:
61547529029, 1
61547529030 2

E1547523021. 3
61547523032, 4

Question Number : 84 Question Id : 6154757446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following issues are highlighted in the UN Sustainable Development Goals?

(a) Zero Hunger
(b) Clean water and sanitation
(c) Cultural heritage

(d) Globalization
Choose the correct answer from the codes given below:;

Options:

(1) (1) and (111)
(2) (1) and (11)

(3) (1) and (1v)
(4) (1) and (111)

Options:

61547529033, 1
61547529034 2
61547529035 2
61547529026, 4

Question Number : 84 Question Id : 6154757446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-

T T8 o Tad e a1 fafatga 3 8 3 7ol o a8 5 S S @ 2 e

(i) I YET (SR FR)

(i) =0 Ad AN ==l
(iii) ~ AFERfae =0
(1v) ErEICTY

(1) (1) F (iid)
(2) (1) AN (i)

(3)  (il) X (iv)
(4) (i) FR (i)

Options:

61547529033, 1
61547529034, 2
61547529035 =2
61547529036 4

Question Number : 85 Question Id : 6154757447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
James Rosenau's explanation of ‘the processes whereby international relations conducted by
governments have been supplemented by relations among individuals. groups and societies’

is recognized as,

(1) Humanism (2) Republicanism
() Transnationalism (4) Mercantilism
Options:

E1547523037. 1
61547523038, 2
E1547523039. 3
E1547523040. 4



Question Number : 85 Question Id : 6154757447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FAT F TR T S TsE3 F = 9z 2 F e =Atwdl, 9yl SR 99l F 9 T9Y WER gE

G AT Fadi &1 grIid #id 217 39 &8 §9 1 7H1 9161 2 7

(1) TG (2) TR
(3)  UR-UFER (ZEHICTH) @) arfsTEE
Options:

61547523037, 1
E1547523035. 2
E1547523033. 3
B1547523040. 4

Question Number : 86 Question Id : 6154757448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following features is not an important component of democratic peace

theory?

(1) Peaceful settlement of disputes (2) Common values

(3) Economic cooperation (4) Regional integration
Options:

61547523041 1
E154752304%2. 2
E15475239043. 3
E1547529044. 4

Question Number : 86 Question Id : 6154757448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AThdTEe: Mid g &1 FefaiEd § 9 98 9acyel 92 T8 2 7

(1) == &1 miagel H9em (2) Gr= ged
(3)  SATIYE TEAM (4) &g v
Options:

61547523041, 1
E1547529042 2
E1547529043. 3
B1547523044. 4

Question Number : 87 Question Id : 6154757449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who of the following coined the phrase, “Constitutionalization of international law™?

(1) J. Habermas (2) Hugo Grotius
(3) P. Corbelt (4) Hans Morgenthau
Options:

E1547523045. 1
E154752904E. 2
B1547523047. 3
615475230458, 4

Question Number : 87 Question Id : 6154757449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeEEA o e g TEta o Afae T e = i

(1) 9. e T
(3) i FEe T
Options:

61547523045, 1
E154752904E, 2
E1547529047. 3
515475230458, 4

Question Number : 88 Question Id : 6154757450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following organisation in the order of their vear of establhishment using the
correct codes given below :

(a) Commonwealth of Independent States

(h) Shanghai Cooperation Organisation

(c) North Atlantic Treaty Organization

(d) European Union

Codes:

Option :

(1) (a). (b). (), (d)
(2) (d}. (e). (a). (b)
(3) (c). (a). (b). (d)

(4) (c). (a). (d). (b)

Options:

61547529049 1
61547529050, 2
61547529051, 5
61547529052, 4

Question Number : 88 Question Id : 6154757450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)  TIOF TE F FHEGECY (FATEIET FATF T30S T2H)

(b)y  TETE TEAM T3

(c) I UZATeS: HiY T8

(d) T E"

(1) (a), (b). (c), (d)
(2) (d). (e). (a). (b)
(3) (), (a), (b), (d)
(4) (c), (a), (d), (b)

Options:

61547529049, 1
E1547529050. 2
61547529051, 5
61547529052 4

Question Number : 89 Question Id : 6154757451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A report that deseribed UN's interconnected roles to maintan peace and security in the post-
Cold War period is known as:

(1) In Larger Freedom (2) An Agenda for Peace
(3) Millenium Development Goals (4) Sustainable Development Goals
Options:

BE1547523053. 1
B1547523054. 2
61547523055, 3
61547523056, 4

Question Number : 89 Question Id : 6154757451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i~

0 e =1 71 9m 2, oo Ifagge &1 0 90 SR e 9 v & AU 99 g F S -maiha

(1) 31 asR %iEd (2) TUF USFST BE 9
(3) =9 =ae982 Ted (4) TEHE STIHE Tiod
Options:

BE1547523053. 1
B1547523054. 2
61547523055, 3
61547523056, 4

Question Number : 90 Question Id : 6154757452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following major Asian powers is helping India to build the first bullet train in
the country?

(1) China (2) dJapan
(3) Korea (4) Turkey
Options:

E1547523057. 1
E1547523058. 2
B1547523059. 3
B1547523080. 4

Question Number : 90 Question Id : 6154757452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frfafga § @ +9E 799 TREE 9E 9RG & =09 999 ol oF F HA9 H geEdl # @ a7

-~

(1) == (2) ~=mHH
(3) e s (4) T
Options:

61547523057, 1
61547523058, 2
61547523059, 3
61547523080, 4

Question Number : 91 Question Id : 6154757453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following two countries have conferred their highest civilian award on Prime
Minister Narendra Modi?

(1) South Korea and United Arab Emirates
(2) USA and Canada
(3) Bangladesh and Sri Lanka

(4) France and Britain
Options:

1547529061 1
E1547520082. 2
1547520063 3
15475209064 4

Question Number : 91 Question Id : 6154757453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EfAtgd § 4 TohA o1 590 9 T9EET Fg 9161 &1 A9 FErs ARG [EERT H TG AT B 7

(1)  =feqor =il SR 93 o7 S (2) U AR FATS
(3)  ATATRW FR 2AMHT (4) HE FHR feA
Options:

E1547523061. 1
E1547523062. 2
E1547523063. 3
B1547523064. 4

Question Number : 92 Question Id : 6154757454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following French aircrafts or helicopters is part of India’s air fleet?

(1) F-16 (2) Sukhoi
(3) MIG-29 (4) Rafale
Options:

E1547523065. 1
B1547523066. 2
G1547523067. 3
E15475230658. 4

Question Number : 92 Question Id : 6154757454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)
(3)

Options:

TH-16 (2) HEE
fmr-20 (4) The

61547523085, 1
E1547523066, 2
B1547523067. 3
B1547523068. 4

Question Number : 93 Question Id : 6154757455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following events in ascending chronological order with help of the correct code
civen below:

(a)
(b)
{c)
(d)
Codes:
(1)
(2)
(3)
(4)

Options:

Jawaharlal Nehru's first visit to the Soviet Union
Nikita Ehrushchev's first visit to India
Morary: Desai’s visit to the Soviet Union as Indian Prime Minister

Signing of Indo-Soviet Treaty of Peace. Friendship and Cooperation

(a). (b). (d). (c)
(a). (b). (c), (d)
(b). (e). (a). (d)
(d). (b). (c). (a)

B1547523069. 1
B1547523070. 2
E1547523071. 3
E1547523072. 4

Question Number : 93 Question Id : 6154757455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  SATETATS T2 =1 Tiaad 99 & 99T I

(b)  TAfeRar gv=ra g1 9ra i 9Ug I

-y

(c) A o & ®9 8 OREs 29 21 9ifasd 99 & I

(d)  FI-giEEd I, B9 U wEEn 9fg W Eeien

(1) (a). (b), (d). (c)
(2) (a), (b). (c). (d)
(3)  (b). (c), (a). (d)
(4)  (d). (b). (0). (a)

Options:

61547529069, 1
61547529070, 2
E1547529071. 2
61547529072 4

Question Number : 94 Question Id : 6154757456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I (India-China Agreements) with List II (Years of signing) and find correct
answer with the help of codes:

Last I Last II

(a) The agreement on maintaining peace (1) 2003
and tranquility in the Border areas
along the Line of Actual Control

(b) Agreement on confidence building (1) 1993

measures in the military field along

the India-China Border
(¢) dJoint Declaration on principles for the (111) 1996

relations and comprehensive
cooperation

(d) A Shared Vision for Twenty First (iv) 2008
Century

Codes:

(1) (a)-(i1). (b)-(iii), (¢)-(i), (d)-(iv)
(2) (a)-(1). (b)-(iv). (¢)-(ii). (d)-(iii)
(3) (a)-(iv), (b)-(1), (c)-(1i), (d)-(iii)
(4) (a)-(ii1), (b)-(11), (c)-(iv). (d)-(1)
Options:

61547529073, 1

E1547520074. 2

E1547523075. 3
B1547523076. 4

Question Number : 94 Question Id : 6154757456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TH1-1 (TR =1 0 Fl G1-11 (F51eR & 99) T gHfcia FIta0 7 F2 &l Tl ¥ T8l 3 41190 ;

T=1-1 g=-11
() FEaEE FFEm T " W HEEd &9 3 (1) 2003
oifd AR wenfd (ZFfedl) sE W & A
ﬁ W.F
(b) wRA-=F ¥ ¥ we 6= a3 0 FwEaw (@) 1993
i 39t % = gegE

() TaAHl AR =AE TEAN & WgE F g8 T (i) 1996

(d) sFEEH Tdedl & fau gEn e (iv) 2008

+d :

(1) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(2) (a)-(1), (b)-(1v). (c)-(11). (d)-(111)
(3) (a)-(iv). (b)-(1). (c)-(1). (d)-(ii1)
(4) (a)-(111), (b)-(i1). (¢)-(iv). (d)-(1)

Options:

61547529073, 1
61547529074 2
61547529075 2
61547529076, 4

Question Number : 95 Question Id : 6154757457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The 2004 EU-India Strategic Partner-ship Agreement did not propose which of the following

areas of cooperation?

(1) Conflict prevention
(2) Economic partnership
(3) Cultural exchange

(4) Environment protection
Options:
615475290771
1547529075 2
E1547529079. 3
1547529050 4

Question Number : 95 Question Id : 6154757457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a9 2004 & 3.9, WG WHIfaH HEGRT THEG & HAT AARGd 3 H e T &% T T8l T

=T 9T Y

(1) gy i A

(2) Tt "R

(3) HEah % AGH-YEH

[

(4)  TATER T
Options:
61547523077, 1
61547523078, 2
61547529079 2
61547529020, 4

Question Number : 96 Question Id : 6154757458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year did India become the official dialogue partner of the ASEAN?

(1) 1991

(2) 1992

(3) 1995
(4) 1998
Options:

61547523081, 1
G1547523052. 2
E1547523083. 3
E1547529084. 4

Question Number : 96 Question Id : 6154757458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR fohg 99 o AT =1 ATMSeRiE: e 9Eier 5491 9717

(1) 1901
(2) 1992
(3) 19095

(4) 1998



Options:

61547529081, 1
61547529082 2
E15475290282. 2
61547529084, 4

Question Number : 97 Question Id : 6154757459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct code for Assertion (A) and Reason (R) as given below:

Assertion (A): India’s maritime strategy indicated adoption of an oceanic approach to its

strategy other than a coastal one

Reasons (R) : India’s geographical spread provides it unimpeded access to the Indian
ocean along with its numerous islands in the eastern and western side of
India

Codes :

Options :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are not correct

(3) (A) 1s correct. but (R) 1s not correct
(4) (A) 1s not correct, but (R) is correct
Options:

61547523055, 1
615475230356, 2
E1547523087. 3
E1547523088. 4

Question Number : 97 Question Id : 6154757459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I 5u U sfaEeE (A) o 9% (R) & U a81 %52 &1 9891 S

HATFRA (A) HRA 1 AeF HETG 3 AF OHEIG 3 Tead] TR & e, eEra 396 &
HucRe2il
s (R) : TRA &1 SN R 29 % T iR Teed uW § T o 2 % @ny-ary

fEeaEmrR H [HiE= 189 95 %4l &

(1)  (A) SR (R) 5H T8 2|
(2 (A #R (R)ZF1 T&l T&1 2l
(3)  (A)@El &, @A (R) T2 &1 2

(4) (A FE TE 7, A (R) TE 2

Options:

61547529085, 1
61547529086, 2
61547529087, o
61547529088, 4

Question Number : 98 Question Id : 6154757460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The establishment of Bay of Bengal Intiative for Multi-Sectoral. Technical Economic
Co-operation (BIMSTEC), intended to bridge between India and Southeast Asia, became
possible with one among the following Southeast Asian countries joining in ASEAN. Identify
the correct answer

(1) Vietnam (2) Myanmar
(3) Combodia (4) Laos
Options:

61547523059, 1
E15475230380. 2
E1547523031. 3
B15475230352. 4

Question Number : 98 Question Id : 6154757460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



o AT S M R Hedl Hdetd, faad, sHRAHE A (. AR vA.wE AL 1) F s
1 3599 WA SR &g TP & = H3g a9 o, o efaiad |3 3w afagd e 3w gm siiiae
4 wfrfed 2H d 499 51| H&l 3 ! TEFH I

(1) e (2) TR
(3)  wHEIS: (4) =A™
Options:

B1547529089. 1
615475230380, 2
615475230381, 3
E154752303%2. 4

Question Number : 99 Question Id : 6154757461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With which one of the following countries India established a high-level people to people
(P2P) and cultural exchanges mechanism in 2019?

(1) Vietnam (2) The USA
(3) Russia (4) China
Options:

615475230393, 1
61547523034, 2
E15475230385. 3
E1547523036. 4

Question Number : 99 Question Id : 6154757461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WG A HHAfcRad 5 8 0 23 & @19 S9ar & s9ar (01 2 1) § 99 SAR- JEFaE AeH-TaE el 3
T 9 1 TAET T 2010 H A ofi ¢

(1) A (2) TIE T=T FAURH
(3) &4 (4) =M
Options:

615475230393, 1
61547523034, 2
E15475230385. 3
E1547523036. 4

Question Number : 100 Question Id : 6154757462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which one of the Southeast Asian countries, the “Briggs Plan” of creating new fenced
villages was successfully implemented?

(1) Indonesia (2) Vietnam
(3) Malaysia (4) The Philippines
Options:

B1547523087. 1
B15475230398. 2
615475230845, 3
61547523100, 4

Question Number : 100 Question 1d : 6154757462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THfAigd § 4 o6 ZfemgE e oo 4 ma F =R @1 A3 a8 TH S AT #) ahdadeS®
FHA=AE TR T u?

(1)  s=HfEmE 2y faaam
(3)  HofzEn (4) TR
Options:

61547523037, 1
61547523035, 2
E15475230343. 3
E1547523100. 4

Question Number : 101 Question Id : 6154757463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I (Authors) with List IT (Books)

List I (Authors) List II (Books)
(a) Frances Fitzerald (1) The Two Vietnams
(b) Joseph Buttinger (1) Vietnam Divided
(¢) Bernard B. Fall (111) Fire in the Lake
(d) B.S.N.Murti (iv) The Smaller Dragon: A Political

History of Vietnam

Codes:

(1) (a)-(1), (b)-(1v), (c)-(i1), (d)-(iii)
(2) (a)-(i1), (b)-(1). (c)-(iii), (d)-(iv)
(3) (a)-(111), (b)-(iv), (c)-(1), (d)-(11)
(4) (a)-(1v), (b)-(1). (c)-(ii). (d)-(ii1)



Options:

61547529101, 1
61547529102 2
E1547529102. 2
61547529104, 4

Question Number : 101 Question Id : 6154757463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g=I-1 (eFa®) &1 g=-11 (F50e) & @19 e fifa .

- (o7 g=1-11 (=)
(a) WIES TS (1) =2 g
(b) TEF TR (i) Toaam fEamEss
(c) =TS =1, HiA (iii) R E T oI
(d) . TE. w. g4 (iv) % TR IH : A Ufarsd B H@E

%

(1) (2)-(1). (b)-(iv). (¢)-(i1). (d)-(iii)
(2) (a)-(11). (b)-(1). (¢)-(111), (d)-(1v)
(3) (a)-(111). (b)-(iv). (e)-(1). (d)-(i1)
(4) (a)-(av), (b)-(1). (c)-(11), (d)-(111)

Options:

61547529101, 1
61547529102 2
61547529102
61547529104, 4

Question Number : 102 Question Id : 6154757464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Mateh List I with List I

List I List IT
(Authors) (Books)
(a) Dawvid J. Steinberg (1) A History of South East Asia
(b) George Coedes (11) The Culture of South East Asia
(¢) D.G.E. Hall (111) The Indianised States of South East
Asia
(d) Riginald Le May (1v) In Search of South East Asia

Codes:

(1) (a)-(i1), (b)-(iv), (e)-(1), (d)-(ii)
(2) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(3) (a)-(iii), (b)-(G), (e)-(i), (d)-(iv)
(4) (a)-(1), (b)-(11). (e)-(1v), (d)-(111)

Options:

61547529105, 1
61547529106, 2
61547529107, 2
61547529108, 4

Question Number : 102 Question Id : 6154757464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 %1 g=I-11 % 19 fiem Fifo

-1 (FE) =11 (T5)
(a) =z 5. A (i) U el A w8y 5 v
(b) s FUZH () 7T Fo=r AF TEY 32 UEE
(c) EIS1.3. 7 (i) 7 I2AMES W7 AMF 139 552 UL
(d) fFrsad (iv) =1 99 #ATF 9139 =2

[ Tl

(1) (a)-(11). (b)-(v). (¢)-(1), (d)-(i11)
(2) (a)-(1v), (b)-(iil). (e)-(1). (d)-(i1)
(3) (a)-(111), (b)-(1). (c)-(11), (d)-(1v)
(4) (a)-(1), (hb)-(11), (¢)-(iv), (d)-(111)

Options:

615475291051
61547529106, 2
61547529107, 2
61547529108, 4

Question Number : 103 Question Id ;: 6154757465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following was the last Monarch of Vietnam?

(1) Gia long (2) Minh Mang
(3) Tu Duc (4) BaoDa
Options:

615475231051
61547529110, 2
61547529111, =
E15475239112. 4

Question Number : 103 Question Id : 6154757465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



etafad 9 9 &= fHuaam & oy o 97

(1) T am (2) Ta= =m
(3) Z =& (4) 1HT 3
Options:

E1547523105. 1
61547523110, 2
61547529111, 3
E154752311%2. 4

Question Number : 104 Question Id : 6154757466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Whom did the king of Thailand (Siam) Vajiravudh eall “The Jews of the East because of
their unassimilability?

(1) The Indians (2) The Vietnamese
(3) The Chinese (4) The Japanese
Options:

615475291121
E15475239114. 2
E15475239115 3
61547523116, 4

Question Number : 104 Question Id ;: 6154757466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
orzevs F 7o (faem) afsge 3 8 o0d =1 o709 9 %2 9 # TG % YR W 3% 99 a5 T2

(1)  9rdE = (2) T =
{3) ﬂ [ i a__-:l_ {_1-) f-»#-\_. ﬁ
Options:

615475231121
61547529114, 2
61547523115 3
E1547529116. 4

Question Number : 105 Question Id : 6154757467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the main reason for China-Vietnam war of 1979?

(1) Ethnic Chinese issue

(2) Border clashes between Vietnam and Combodia
(3) Vietnam’'s closeness to India
(4) Vietnam's occupation of Combodia

Options:

615475231171
615475291158, 2
61547529119, 3
E15475239120. 4

Question Number : 105 Question Id : 6154757467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T 1979 F =10 Ig H1 NG FROT T 17

(1) o= =i g (2) Taugam o == & 99 @EEdt 99y
(3) T & T fFuaam £ Haean (4)  =wEETEE W EAuam &5 Fea
Options:

B1547523117. 1
61547523118, 2
615475291149, 3
61547529120, 4

Question Number : 106 Question Id : 6154757468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following leading Southeast Asian personalities ventured for national

liberation of his country with a slogan”"Crusade for Independence™?

(1) Ho Chi Minh (2) Norodom Sihanouk
(3) Sukarno (4) Aung San Suu Ky1
Options:

61547529121, 1
E1547529122. 2
BE1547529123. 3
B1547529124. 4

Question Number : 106 Question Id ;: 6154757468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i = =,

Tfataa 9 9 g smoft 2feT oRms wifeema 3 @7d 29 &6 3 giE 9§ Saaar & O 91T F AR

& W1y HrEfasE vnfier] #17

(1) @ == @) =y faeas
(3) & (4) AT FE g =l
Options:

B1547523121.1
B15475239122 2
61547529123 3
61547529124, 4

Question Number : 107 Question Id : 6154757469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How did Thailand escape from falling under colonial rule of the West? Identify correct

answer from the reasons given below :

(1) Thailand (Siam) stronger than the colonical rulers
(2) Thailand was diplomatically successful
(3) The Anglo-French Agreement of 1896 made Thailand a buffer

(4) Thailand was useful for colonical exploitation
Options:

£1547529125 1

61547529126, 2

61547529127, 5

61547529128 4

Question Number : 107 Question Id : 6154757469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AEATS A TTFH & HAMHARE I & =7 6 d =9 F] 9 IH5R T=@17 = 50 70 Fo 9 4

el 308 &l 2= o

(1)  orgeAvs (THeTH) STt IE § Sa7a arda o

(2)  UAvS FAGE T T THS o

(3) =9 1896 % ATAI-HIGE] U 7 F2ATS T Geaad! &7 57 fogm on

(4)  AEdvE HAUHAETE g & fdu IuEE o
Options:



BE1547529125. 1
61547523126, 2
B1547523127. 3
61547529128, 4

Question Number : 108 Question Id : 6154757470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following authors stated that “The nationalist movement in Indochina was

almost confined to the Vietnamese™?

(1) D.G.E. Hall

(2) John F.Cady
(3) D.R. Sardesai
(4) Bernard B. Fall

Options:

61547529129, 1
61547529120 2
61547529121, 5
61547529122 4

Question Number : 108 Question Id : 6154757470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tfataa 7 @ g 9gs 7 Fa & “Te-=1 3 T5an ARed o SudareEl 96 a2 @ iHg a1t e

(1) Stz s«
(2) S UF. FHIl

(3) 2. HN. ToE:E

(4) A91E &1, Fid

Options:

61547529129, 1
61547529120 2
61547529131, =
61547529132 4

Question Number : 109 Question 1d : 6154757471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



With which one of the following names the French established their Indochina

administration?

(1) Indochina Federation

(2) Indochina Alliance

(3) Indochina Union
(4) Indochina counecil
Options:

515475231331
61547529124, 2
61547529135 3
E15475239136. 4

Question Number : 109 Question Id : 6154757471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fferttad 4 o foeg 9@ O wifatam 9 w9 fee - e i w2y 17

r

(1) e - ¥9 (FEwEH)

(2) TEe-=F E ()
(3) Te=—=m gtEA
(4) Tem—F wiwE (FEE)

Options:

61547529133, 1
61547529134 2
61547529135 2
61547529136 4

Question Number : 110 Question Id : 6154757472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I (Countries’ previous names) with List-II (Countries’ present names)

List I List IT
(Previous names) (Prezent names)
(a) Gold Coast (1) Namibia
(by Bechunaland (1) DBotswana
(c) Southwest Africa (1) Mali
(d) French Sudan (iv) Ghana

Choose the correct from the codes given below :

(1) (a)-(1), (b)-(i11), (¢)-(1v), (d)-(11)
(2) (a)-(iii), (b)-(v). (e)-(ii). (d)-(1)
(3) (a)-(ii1), (b)-(1). (¢)-(11), (d)-(iv)
(4) (a)-(1v), (b)-(11), (c)-(1), (d)-(1ii)

Options:

61547529137, 1
61547529138 2
61547529139 2
61547529140 4

Question Number : 110 Question Id : 6154757472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 (330 = 94 A/M) & g=-11 (S0 &1 Fo80E 98) & @19 H5ee i

T -1
(7 =) EELIEEILY
(a) TeS FEE (1) e
(b) =FATIUS (i)  SeEar
(c) H3Y T2 FHF (iii) @Al
(d) %= gsH (iv) ® T

= 120 70 2 1 ° TE =ehed & =5 w

(1) (a)-(1), (b)-(iil), (e)-(iv). (d)-(ii)
(2) (a)-(111), (b)-(1v), (¢)-(11), (d)-(1)
(3) (a)-(iii). (b)-(1). (e)-(ii). (d)-(iv)
(4) (a)-(1v), (b)-(11), (e)-(1), (d)-(ii1)

Options:

61547529137, 1
61547529138 2
61547529129 2
E1547529140 4

Question Number : 111 Question Id : 6154757473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following leader founded the Zionist movement for the creation of Jewish

homeland?

(L Ben Gurion
(2) Theodor Herzl
(3) Moshe Dayvan

(4) Benjamin Netanyahu
Options:

£1547529141. 1

61547529142 2

1547529143 3



E1547529144. 4

Question Number : 111 Question Id : 6154757473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afafga O I &g 5a1 3 758 Fen - & o g2dEmd e & e #i 7

(1) =4 TREA

(2)  ToEER 2

(3) O SEHE

(4)  SSIEA d9TE

Options:

61547529141, 1
61547529142 2
E1547529142 =2
61547529144, 4

Question Number : 112 Question Id : 6154757474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Straits of Hormuz connects

(1) The Persian Gulf with the Gulf of Mannar

(2) The Persian Gulf with the Gulf of Oman and the Arabian sea
(3) Gulf of Agaba with Babel Mandap

(4) The Persian Gulf with the Gulf of Agaba

Options:

51547529145, 1
61547529146, 2
61547529147, 5
61547529148 4

Question Number : 112 Question Id : 6154757474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FUH IISAE 0T SISl © ¢

(1)  FRE &1 TSI & A9R &) @Sl & 919

{2} AR a‘?[ {H|§| EE[ -\':JJILH;rt EE[ JQIEI:I a7 FHIE HEE % LRI

(3)  37FE i WIS &I A6 7S & 119

(4)  ERE &I WIS HT FaE F @Sl F 91y

Options:

61547529145, 1
61547529146 2
61547529147, 2
E1547529148. 4

Question Number : 113 Question Id : 6154757475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following countries left the OPEC recently?

(1) Iran
(2) Iraq
(3) Qatar

(4) The UAE

Options:

51547529149, 1
61547529150 2
61547529151, =2
61547529152 4

Question Number : 113 Question Id : 6154757475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(2) EES
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Options:

61547529149, 1
61547529150 2
£1547529151. 2
61547529152, 4

Question Number : 114 Question Id : 6154757476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ms. Haya Rashed Al Khalifa, the first Arab woman to preside over the UN General

Assembly in 2006 belongs to which of the following countries?

(1) Egypt

(2) Baharain

(3) Iraq

(4) Tunisia
Options:

615475231531
615475239154, 2
615475239155 3
E1547523915E6. 4

Question Number : 114 Question Id : 6154757476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T4 2006 T TIE T FEEYT I FAATAT FH Tl TEdl I Azl AT 51 AT A Telth HEfaad

T g f %';-'ﬂ T GIEES RER] ?'?

[

(1) ™HH

(2) =&

(3) =

(4)  ZErRE
Options:

515475231531
61547523154, 2
615475239155 3
61547523156, 4

Question Number : 115 Question Id : 6154757477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I and List IT

List I List 11
(Countries) (Capitals)
(a) Kazakhstan (1) Dushanbe
(b) Kyrgyzstan (11) Tashkent
(¢) Tajikistan (111) Astana
(d) Uzbekistan (iv) Bishkek

Codes:

(1) (a)-(1v). (b)-(ii1), (e)-(11). (d)-(1)
(2  (a)-), (b)-(1), (¢)-(111), (d)-(iv)
(3) (a)-(1i1), (b)-Av). (c)-(1). (d)-(i1)
(4) (a)-(11), (b)-(1). (¢)-1v), (d)-(111)

Options:

61547529157, 1
61547529158 2
£1547529159 =2
61547529160, 4

Question Number : 115 Question Id : 6154757477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 (29) gI-11 (Trsferr)
(a) HANIEH (i) gEm=
(h) Tofieae (i) TR
(c) drfR=H (iii) AT
(d) ST (1v) T9Tehe

L Teide

(1) (a)-(1v), (b)-(i11), (e)-(11), (d)-(1)
(2) (a)-(1). (b)-(i1). (c)-(iii). (d)-(1v)
(3) (a)-(111). (b)-(iv), (e)-(1), (d)-(i1)
(4) (a)-(11), (b)-(1). (c)-(1v). (d)-(1i1)

Options:
615475291571

E15475239158. 2
61547523155, 3
61547523160, 4

Question Number : 116 Question Id : 6154757478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one Assertion (A) and the other Reason (R) :

Assertion (A):  Ayatollah Khomeini’s theo-political world views were rooted on the
perception of Islam as a salvaging force.

Reasons (R) : Khomeini cosidered the USA and the USSR as ‘Satans’ and advocated that
Islam must find a path to emancipate the world from both capitalism and
communism

In context of the statements, choose the correct options given below :

(1) Both (A) and (R) are correct
(2) Both (A) and (R) are incorrect

(3) (A) 1s correct. but (R) 1s incorrect
(4) (R) 1s correct, but (A) 1s incorrect
Options:

BE15475239161. 1
B1547523162. 2
61547523163, 3
61547523164, 4

Question Number : 116 Question Id : 6154757478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1 21 who foy o 2, famll & w afieem (A) i gEn 9% R) 3

FFFAE (A) qifts-TeHias fFva & an 4 sagg g & fEa f 92 =m F1 wE IgEs
oifth & =0 1 o i sfaaEon | HE o)
IF (R) : G J T T SHAET AR GEAd §9 F CTAE F €9 H GE 997 WEE] )

oA F1 qeiEE SR EEE 2H | AR % 0 390 #1 UF 96 @eEl =me)|
ST RO & ﬂﬁ'ﬁ i ffafea g @ ?EITEﬁ TFT @r;!. I

(1) (A R (R) aF1 ®&l 7|

(2) (A) 37 (R) 241 TTeid 21

(3) (A) TF1 2, |fFT (R) T4 &1

Options:

61547529161, 1
61547529162 2
615475291632 2
61547529164, 4

Question Number : 117 Question Id : 6154757479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following countries has the Soviet-era nuclear testing site ‘Semipalatinsk™

(1) Russ=ia 2) Kazakhstan
(3) Uzbekistan (4) Kyrgyzstan
Options:

515475231651
615475239166, 2
61547523167, 3
E15475239165. 4

Question Number : 117 Question Id : 6154757479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 5 O T8 29 5 Hifagd - &1 A gheq we wfrertass fem 27

(1) =4 (2) =HeEEH
(3) 39 sfe - {4} r_@.. x w| ST
Options:

E1547523165. 1
E15475239166. 2
B1547523167. 3
61547523168, 4

Question Number : 118 Question 1d : 6154757480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following two countries have borders with the Aral Sea?

(1) Azerbaijan and Kazakhstan (2) Turkmenistan and Uzbekistan
(3) Uzbekistan and Kazakhstan (4) Russia and Kazakhstan
Options:

615475231691
61547529170, 2
E1547529171. 3
B1547529172. 4

Question Number : 118 Question Id : 6154757480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fefefga § 9 foa =1 =3 & o 9re & o1y @i 20

1) FASETH AN FATEEH (2) THEAFTH AR IFERAH
(3) ISR N FHENEEH (4) ®9 AR FATGAH
Options:

E154752316%9. 1
E15475239170. 2
E15475239171. 3
B1547523172. 4

Question Number : 119 Question Id : 6154757481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following was the only civilian and directly elected President of Egypt?

(1) Anwar al Sadat (2) Hosni Mubarak
(3) El Sis1 (4) Mohamad Mazsi
Options:

B15475239173. 1
615475239174 2
61547523175 3
E1547523176. 4

Question Number : 119 Question Id : 6154757481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefafiga O O e &1 FhE e o0 (fafEafms) o 909 &9 9 Faitem agafa 97

(1) &R gied (2) FEI HAEE
(3) A To (4) dremme g
Options:

615475231731
61547523174, 2
61547529175 3
E1547523176. 4

Question Number : 120 Question Id : 6154757482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wheo 1s the author of the book “Things Fall Apart™

(1) Wole Soyinka (2) Chinua Achebe
(3) Ben Okri (4) J M Coetzee
Options:

E1547523177. 1
E154752917E8. 2
B1547523173. 3
B1547523180. 4

Question Number : 120 Question Id ;: 6154757482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tea% 19 R AL H G EH 8

(1) &A= 9EH 2) TEgen w=e
(3) S A (4) .U, Figzsh
Options:

6154752391771
61547529178, 2
E1547523179. 3
E1547523180. 4

Question Number : 121 Question Id ;: 6154757483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following events, in ascending chronological order with the help of the given

codes :

Events
(a) Oslo Accord
(b) Establishment of the PLO

(c) UN recognized PLO as a legitimate organization of the Palestine
(d) Creation of Palestinian authority
Codes:

(1) (b). (e). (a), (d)
(2) (a). (d), (b). (e)
(3) (e). (b), (a), (d)

(4) (d). (c). (b). (a)
Options:

615475293181, 1
61547523182 2
61547529183 2
61547529184 4

Question Number : 121 Question Id : 6154757483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 150 U 2 F TEEaT § EfaiEy 92l F1 ARE FAEaEEE saeed Hiag
(a)  FEAT FHHMET
(b)  TL.UA.HT. F T

(c) T TF 5 7031, &I UF 39 T34 & €9 § g1 954 |

(d) TRl wiger (FA9E) 1 =g

E Tl

(L)  (b). (e). (a). (d)
(2)  (a),(d), (). (e
(3)  (c). (b), (a). (d)
(4) (d). (e). (b). (a)

Options:

61547529181, 1
E1547529182. 2
61547529182
61547529154 4

Question Number : 122 Question Id ;: 6154757484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List IT

List I
(Leaders)
(a) Vladimir Lenin
(b)y Mikhail Gorbachev
(c) Nikita Khrushchev
(d) Boris Yeltsin

(1)
(11)
(111)

(1v)

Choose the correct option from those given below :

(1) (a)-(i11), (b)-(1), (e)-(i1). (d)-(1v)
(2) (a)-(1v), (b)-(111), (e)-(11), (d)-(1)
(3) (2)-(1), (b)-(ii), (e)-(iii), (d)-(iv)
(4) (a)-(11), (b)-(iv), (e)-(1), (d)-(1i1)

Options:

61547529185,
61547529186,
61547529187,
£1547529188.

[ N Y

List IT
(Policies)
Perestroika and Glasnost
De-Stalinization
New-Economic Policy (NEP)
Shock Therapy

Question Number : 122 Question 1d : 6154757484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g1-1 &1 gH1-11 ¥ gieid ey,

g=f1-1 (1) F=A-11 (+fifen)
(a) FeATEHR gidA (i) TEHEE AR TAHT
(b) THEREa TEE (i) fa-w=riadeE (feeremeee)
(c) Taferar o= (iii) TE-aATfee fifa (.21
(d) =T FeareE (iv) 9T o

= 75U U A 9 99l Heed GH0

(1) (a)-(iii), (b)-(1), (c)-(i1). (d)-(iv)
(2) (a)-(1v), (b)-(1i1), (c)-(i1). (d)-(1)
(3  (@-@). (b)-(id), (¢)-(ii), (d)-{v)
(4) (a)-(11). (b)-(iv), (e)-(1), (d)-(ii1)

Options:

61547529185, 1
61547529186, 2
61547529187 2
E15475291288. 4

Question Number : 123 Question Id : 6154757485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following two countries are involved in the dispute over Nagorno-Karabakh?

(1) Georgia and Russia (2) Agzerbaijan and Armenia
(3) Armenia and Georgia (4) Armenia and Turkey
Options:

E1547529189. 1
B154752391390. 2
B15475231391. 3
615475231382 4

Question Number : 123 Question 1d : 6154757485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Sfite=n A8 =5 (2) HATEFHE FHT AHAAT
(3) AW AR Aiter (4) FHEAT HR T
Options:

E15475291859. 1
61547523130, 2
E15475231391. 3
B15475291392. 4

Question Number : 124 Question Id : 6154757486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Russian rivers is not a north-flowing one?

(1) Lena (2) Ob
(3) Yenesel (4) Ural
Options:

6154752913921
61547529134, 2
E154752391385. 3
B154752391396. 4

Question Number : 124 Question Id ;: 6154757486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-,

Freferfiaa § 4 #Fd] 51 981 3t 4l SR vafed 981 2l 2 7

(1) =M (2) &=
(3) '*:‘ﬁ_'h (4) A
Options:

5154752315931
61547529134, 2
61547529135, 3
E154752391396. 4

Question Number : 125 Question Id : 6154757487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who of the following was a Chechen rebel leader?

(1) Dmitri Medvedev (2) Dzokhar Dudaev
(3) Boris Yettsin (4) Ramazan Kadyrov Junior
Options:

E15475291597. 1
B15475239198. 2
B1547523199. 3
61547523200, 4

Question Number : 125 Question 1d : 6154757487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
" R e b o, Y W [ i N . T b T
:ﬁ:”?‘l Jd § 4 &4 Uk <= Tdglal Adl qr

{1} _.1: [ -q?-\ JI::I-'F-:I#':I {2 ':-l‘ Jg' é;,lmﬂ

(3) AT e 6 (4) THTHH FERE S

Options:

61547529197, 1
61547529198, 2
61547529199 2
61547529200 4

Question Number : 126 Question Id : 6154757488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements. one labelled as Assertion(A) and the other labelled as

Reason (R)

Assertion (A) : Former Yugoslavia was an artificial ethnic creation that was bound to fall
apart in the sway of ethnic nationalism.

Reasons (R) : Macedonia, Montenegro, Croatia. Bosnia-Herzegovina and even
autonomous Kosovo rose up against Serbia

In the context of above statements, which of the follwoing is correct ?

(1) (A) 1s not correct. but (R) is correct
(2) Both (A) and (R) are correct
(3) (A) 1s correct, but (R) is not correct

(4) Both (A) and (R) are incorrect



Options:

61547529201, 1
61547529202 2
61547529202 2
61547529204, 4

Question Number : 126 Question Id : 6154757488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529201, 1
E1547529202. 2
61547529202, 5
61547529204, 4

Question Number : 127 Question Id ;: 6154757489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Slobodan Milosevic was a:

(1) Bosnian leader
(2) Serbian leader
(3) Macedonian leader

(4) Leader of Vojvodina

Options:



B1547523205. 1
B1547523206. 2
61547523207, 3
61547523208, 4

Question Number : 127 Question Id : 6154757489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547529205, 1
61547529206, 2
61547529207, 2
61547529208 4

Question Number : 128 Question 1d : 6154757490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who of the following was appointed twice ambassador of India to the USSR?

(1) Nurul Hassan
(2) LK. Gujral
(3) V.K. Ahuja

(4) T.N. Kaul

Options:

61547529209, 1
61547529210 2
61547529211, =
61547529212 4

Question Number : 128 Question 1d : 6154757490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529209, 1
61547529210, 2
61547529211,
61547529212 4

Question Number : 129 Question Id ;: 6154757491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements. one labelled as Assertion (A) and the other labelled as

Reason (R)

Assertion (A) : The Georgia-Russia war of 2008 was an assymetric war in terms of force
power
Reasons (R) : Georgia hoped for US support to join NATO which did not come by

In the context of the above statements, which of the following is correct ?

(1) Both (A) and (R) are correct
(2) Both (A) and (R) are incorrect
(3) (A) 1s correct, but (R) is not the real reason of (A)

(4) (R) 1s correct, but (A) 1s incorrect
Options:
615475292131
1547529214, 2
61547529215 2
61547529216 4

Question Number : 129 Question Id : 6154757491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
= 21 Fom fom o 2, o & wF sfeem (A) iR T R) B

HfFEIE (A) ; T4 2008 T AA-FH I3 9 9 H 5 § TF o9 g5 91|
% (R) : ST I e 3 ot fF AR 8 SEA 0 S SuE T O W U 6 89|

ST T & g2 1§ Fefafas § 3 50 ad 20

(1) (A X (R) H1 T& =

(2) (A) # (R) 2F1 7T 2

(3) (A) T2 2, <l (R), (A) T 921 T 721 21

(4) (R) T &, ST (A) T 2|

Options:

1547529213, 1
61547529214 2
61547529215 =
61547529216, 4

Question Number : 130 Question Id : 6154757492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following pipelines caters to the needs of East European countries

(1) Baku-Thilisi-Ceyhan (BKC)

(2) Turkmenistan-Afghanistan-Pakistan-India (TAPI)
(3) Angarsk-Daquing (AN-DA)

(4) Nabbucco

Options:

61547529217, 1

61547529218, 2

61547529219, 3
B1547529220. 4

Question Number : 130 Question Id : 6154757492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529217, 1
61547529218, 2
61547529219,
61547529220 4

Question Number : 131 Question Id ;: 6154757493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct for Assertion (A) and Reason (R) as given below:

Assertion (A):  In the last few decades, citizenship issue had been increasingly recurrent
and forms an important reference point in power struggle.

Reasons (R) : The emergence of social movements during 1970s and 1980s as well as the
demand for democratization process served as the driving force for the
popular movements on citizenship issues.

Codes :

(1) Both (A) and (R) are correct
(2) Both (A) and (R) are not correct

(3) (A) 1s correct. but (R) i3 not correct
(4) (A) 1s not correct. but (R) is correct
Options:

B1547523221. 1
B1547529222 2
E1547529223. 3
61547529224, 4

Question Number : 131 Question Id : 6154757493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529221, 1
61547529222 2
61547529222 2
E1547529224 4

Question Number : 132 Question Id : 6154757494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

One of the important river patagonia flows in which Latin American country?

(1) Brazil (2) Chile
(3) Paraguay (4) Mexico
Options:

E1547523225. 1
BE1547529226. 2
B1547529227. 3
B1547523228. 4

Question Number : 132 Question Id : 6154757494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475292251
E1547529226. 2
B1547529227. 3
B1547523228. 4

Question Number : 133 Question Id ;: 6154757495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following two Latin American countries do not grant nationality to children

born to parents, who are foreign diplomats?

(1) Costa Rieca and Mexico

(2) Argentina and Brazil
(3) Chile and Peru

(4) Ecuador and Brazil
Options:

15475292291
1547529230 2
61547529231 2
61547529232 4

Question Number : 133 Question 1d : 6154757495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529229, 1
61547529230 2
61547529231, 2
61547529232 4

Question Number : 134 Question Id : 6154757496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term ‘Delegate Zero’ refers to which one of the following in Mexico?

(1) State building
(2) Agricultural land
(3) Political leader

(4) Transport Department
Options:
61547529233, 1
61547529234, 2
61547529235, 3
61547529236, 4

Question Number : 134 Question Id : 6154757496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475292331
61547529234 2
61547529235 5
61547529236 4

Question Number : 135 Question Id : 6154757497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Where is the US Pacific Fleet headquartered?

(1) San Fransecisco
(2) Pear]l Harbour Naval base
(3) Los Angeles

(4) Washington
Options:

61547529237, 1
61547529238, 2
61547529239, 3
61547529240, 4

Question Number : 135 Question Id : 6154757497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523237, 1
E1547529238. 2
BE1547529239. 3
B1547523240. 4

Question Number : 136 Question Id ;: 6154757498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who of the following US presidents had put forth the “Atoms for peace” programme?

(1) Roosevelt
(2) Eisenhower
(3) Truman

(4) Johnson
Options:
15475292411
1547529242 2
E1547525245 2
15475259244 4

Question Number : 136 Question Id : 6154757498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547523241. 1
B154752924%2 2
61547529243 3
61547529244, 4

Question Number : 137 Question Id : 6154757499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Embedded journalism” was brought inte practice by the USA during which one of the

following wars.

(1) The Gulf War 1
(2) Vietnam War
(3) The Gulf War I1

(4) During military action in Afghanistan
Options:
61547529245, 1
61547529246, 2
61547529247, o
61547529248, 4

Question Number : 137 Question Id ;: 6154757499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547529245, 1
61547529246 2
61547529247 2
615475292458 4

Question Number : 138 Question 1d : 6154757500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following two early developments influenced USA to follow an isolationist
foreign policy?

(1) War of 1812

(11) Spanish-American war of 1898

(1m1) US-Colombia war

(iv)  US-Mexico relations

Codes:

(1) (1) and (1)
(2) (111) and (iv)
(3) (1) and (iv)

(4) (11) and (111)
Options:
61547529249, 1
61547529250 2
61547529251, 2
61547529252, 4

Question Number : 138 Question Id : 6154757500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(2) (1) 3T (iv)
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Options:

61547529249, 1
61547529250 2
E1547529251. 2
61547529252, 4

Question Number : 139 Question Id : 6154757501 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following international treaties was not ratified by the US?

(1) Comprehensive Test Ban Treaty
(2) Biological Weapons Convention
(3) Outer Space Treaty

(4) Vienna Convention on Diplomatic Relations
Options:

61547529253, 1

61547529254, 2

61547529255, 3

61547529256, 4

Question Number : 139 Question 1d : 6154757501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



efafiga § @ form Sawdia afy = T3 757 A90H gR1 ATE89H T8 foar mE ar?

(1) =9 g0 9y |1y

(2)  Sifge 2w e sftemg (F9aeE)
(3) =l e 4T

(4)  FAlGE a9 W =0T FAa9H

Options:

61547529253, 1
61547529254 2
61547529255 2
61547529256 4

Question Number : 140 Question Id : 6154757502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following coined the term'Containment policy’ in the US?

(1) Ronald Reagan
(2) George Bush
(3) George Kennan

(4) Richard Nixon
Options:
154752592571
15475209258 2
1547529259 2
1547529260 4

Question Number : 140 Question 1d : 6154757502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529257, 1
61547529258, 2
61547529259 2
61547529260 4

Sub-Section Number: 2
Sub-Section 1d: 615475331
Question Shuffling Allowed : Yes

Question Id : 6154757503 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

Read the following passage and answer the questions?(91-95)

For classical realists, probably the greatest responsibility of statesmen was the
responsibility to maintain a balance of military power among the great powers. The point of
doing that was to prevent any great power from getting out of control and attempting to
impose its political and military will on everybody else. The two greatest examples in
modern European history are French King Louis XIV's attempt to domainate Europe in the
late seventeenth century. and Napoleon's attempt to do the same a century later. Both
attempts ultimately failed. The other great powers at the time united to form military
alliances that defeated each of those French bids for European hegemony.

Thus, in classical realist thinking, the balance of power is a valued political objective that
promotes national security. upholds order among great powers. and makes the independence
of states and their peoples possible. The Second World War can readily be seen in this light:
Nazi Germany and imperial Japan made a bid to impose their separate hegemonies on
Europe and Asia: and Britain, the Soviet Union, and the United States formed an alliance to
counter those attempts and restore a balance of power. The Cold war is generally portrayed
as a bipolar balance of power based on nuclear weapons and often referred to as balance of
terror—between the United States and the Soviet Union.

Ref. Robert Jackson and George Sorenson, introduction to International Relations: Theories

and approaches, Oxford University Frens, 2010, PP-88-83.



Sub questions

Question Number : 141 Question Id : 6154757504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who of the following advocated that the greatest responsibility of the great powers was to

maintain a military balance of power?

(1) (Classical realists (2) Neo-classical realists
(3) Defensive realists (4) Strategic realists
Options:

61547523261, 1
BE1547529262. 2
B1547523263. 3
B1547523264. 4

Question Number : 142 Question 1d : 6154757505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who attempted to dominate Europe in late 17t century?

(1) King Louis XIV (2) Napoleon
(3) Hitler (4) Bismarck
Options:

BE1547523265. 1
B1547523266. 2
B1547523267. 3
E1547523Z268. 4

Question Number : 143 Question 1d : 6154757506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to classical realists, the balance of power 1=z a

(1) Economic objective (2) Social objective
(3) Political objective (4) Psychological objective
Options:

61547523269, 1
E1547523270. 2
BE1547529271. 3
B1547529272. 4

Question Number : 144 Question Id : 6154757507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following powers tried to impose hegemony in Europe?

(1) Britain and France
(2) Germany and Japan
(3) US and USSR

(4) Spain and Portugal
Options:
615475292731
61547529274, 2
61547529275, 5
61547529276, 4

Question Number : 145 Question Id : 6154757508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The cold war is often referred to as a ‘balance of terror’ between which of the following

countries?

(1) US and USSR
(2) China and Russia

(3) France and Japan
(4) India and Pakistan

Options:

61547529277, 1
61547529278 2
61547529279 2
E1547529280. 4

Question Id : 6154757503 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 141 Question Id ;: 6154757504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523261, 1
E1547523262. 2
E1547529263. 3
BE1547529264. 4

Question Number : 142 Question Id ;: 6154757505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547529265, 1



E1547529266. 2
B1547523267. 3
B1547523268. 4

Question Number : 143 Question 1d : 6154757506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FATGET FA- TN & FFER A6 T 2

(1) ATlF 3579 (2) M 3599
(3) THITa% 3879 (4) TAETIHE 327
Options:

E1547523269. 1
B1547529270. 2
B15475239271. 3
B1547529272. 4

Question Number : 144 Question 1d : 6154757507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547529273, 1
61547529274 2

615475239275, 3
E1547523276. 4

Question Number : 145 Question Id : 6154757508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547529277, 1
81547520278, 2

B15475232759. 3
E1547523280. 4

Sub-Section Number: 3
Sub-Section 1d: 615475332
Question Shuffling Allowed : Yes

Question Id : 6154757509 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Read the passage below and answer the following questions based on your understanding of
the paragraph. (Q.No. 96-100).

There are always economie or moral arguments for specific territorial annexations, whether
these be "frontier rectifications' or schemes of "closer union' between a stronger power and a
weaker. And in every country there are many individuals who feel personally magnified by
an increase in the frontiers of the state. Thus nationalism. which is the will of a historically
selfconscious people to attain self-government. inclines scarcely perceptibly through
irredentism, which is the will to liberate peoples claimed to be of the same nationality.
towards imperialism. which is the will to rule other peoples. No sooner had the Italians freed
themselves from Austrian rule than they succeeded to the Austrian claim to dominate South
Slavs. No sooner had the Serbs obtained a Yugoslav state than they forfeited the goodwill of
their fellow Yugoslavs by establishing in the new state a harsh Serb predominance. There
are many recent instances of the transition from nationalism to irredentism. and of the
uncertain distinction between irredentism and imperialism. Eire claims Northern Ireland.
and South Africa claimed the High Commission Territories. as India claimed Portuguese
Goa, and Indonesia claimed Western New Guinea. by appeal to some principle other than
the wishes of the inhabitants. which were either unknown or hostile to the claim. Egypt
hoped to absorb the Sudan, half of whose population are not Arab. Nkrumah sought a union
of West Africa, which would reduce Liberia, with a hundred years experience in self-
government. to a position subordinate to Ghana. The settlers of Southern Rhodesia. in their
march towards independence. constructed a Central African Federation of which Nyasaland
against her will was compelled to become a part.

Source;

Power politics by Martin W. Leiester Univ. press and RITA, Lin. 1995 pp.146-147

Sub questions

Question Number : 146 Question Id : 6154757510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

What happened to the fate of settlers of southern Rhodesia?

(1) They remained independent

(2) They constructed a Central African Federation
(3) They joined Nyasaland

(4) They were compelled to leave the region

Options:

61547529281, 1
61547529282 2
E1547529282. 2
61547529284, 4
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Correct Marks: 2 Wrong Marks: 0
Which of the following forms of territorial annexation you find peaceable?
(1) War of aggression (2) Coercive subjugation

(3) Frontier Rectification (4) Civil war



Options:

61547529285, 1
61547529286 2
E1547529287. 2
61547529288, 4
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Correct Marks: 2 WrongMarks: 0

Which of the following is the core issue of irredentism?

(1) Self- conscious nationalism to attain self-government
(2) Fragile union between stronger and weaker power
(3) The desire to rule over others

(4) Align with the ruling power
Options:

61547529289, 1

61547529290, 2

61547529291, 3

61547529292, 4
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How did Serbian nationalism dominate over Yugoslav state?

(1) By aligning with big powers

(2) By warding off the threat of Austrian domination

(3) By asserting Slav-Serbian domination over other small nationalities
(4) By dividing the Slavie population from the muslim population

Options:

61547529293, 1
E1547529294 2
61547529295, 5
61547529296, 4
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Correct Marks: 2 Wrong Marks: 0



What would have been the consequences of a Union of West Africa as desired by Kwame
Nkrumah?

(1) Strengthening of West African Union
(2) Reducing Liberia to a subordinate position to Ghana
(3) Strengthening Nkrumah's position as a great leader

(4) Strengthening Liberia’s position in West Africa

Options:

61547529297, 1
61547529298 2
61547529299, 5
61547529200 4
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E15475239286. 2
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61547529289, 1
61547529290 2
61547529291, 2
61547529292 4
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61547529293, 1
61547529294 2
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61547529297, 1
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